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represents the pattern of biological, cognitive, and socio-emotional processes
that begins at conception and continues through the life span. e-fefamrs, SusHa |
"3 AHTE-geaTsHE yfafanret ¥ degs § vo9mBer I 7 399 nerer 3 g9 der I w3 Hiws
as Fx At 3fde 3 )

(A) Development/ feam (B) Growth/ T

i (C) Maturation/ ufgdasT (D) Cognition/ 80

T

Piagetian concept of the incorporation of new information into existing knowledge is called
/ Figer famrs B9 &3 Areardt & BHs a9s € urEldidins uesT ferar
Aer I :

(A) Assimilation/ AHETTE (B) Accommodation/ ﬁmf&ﬁ

(C) Organization/ Harsa (D) Equilibration/ H3®5

Who among the following presented a social constructivist approach to learning? Jat fafamt

29" fan 3 fifuz &t Aufae J9a=3Ha udo UF =57

(A) Ausubel/ WHES (B) Gagne/ J@aTa

(C) Jean Piaget #& urglare (D) Lev Vygotsky &< fedrerat

People value trust, caring and loyalty to others as a basis for moral judgment, represents
which of the following stage of Kohlberg’s theory of moral development?/ #& 3f3a fsge €
nrarg €3 gfimrt yFt femem, Tugs w3 Teedt & FET J9T U6, JOBg9d € 33 feaA 2
frais € 3o uami (S far 8§ Tar@e J ¢

(A) Stage 2 individualism, Purpose, and f (B) Stage 3 Mutual interpersonal expectations,
exchange/ uzmy 2 fenmaste, G5 i3 | relationships, and interpersonal conformity/ ua™f
gTiugT 3 miyAT ugRue Siitel, fams w3 nizg-fenastars

(C) Stage 4 social system morality/ uZ™r | (D) Stage 1 Heteronomous Morality/ U™ 1 fefgs
4 A yEet dfzast

th

In triarchic theory of intelligence as given by Sternberg, which of the following is not included?

AegaTdd enigr foST I oot @ faaet fifuty fég, Jo el f89° faogr avs &dt T 2

(A) Spatial/ Fafsa (B) Analytical/ feF@HEIHSZT

(C) Creative/ ITaTIHI (D) Practical/ fearaa

o

Which of the following represents the acquisition of a traditional masculine or feminine role?/

o feftmit fE5° fage fFa uduaas Hae 7 fersdt gier o yust § zer@er 37

(A) Gender roles/ 757 gfHar<! (B) Gender typing/ T=9 cEaa

(C) Gender integration/ #'39 ¥dlaas (D) Gender stereotyping/ 259 Actdt&eEtilar

~

~ In Pavlov’s experiments, Pavlov gave food to the dog only after ringing the bell, not after any

other sound, represents which of the following concepts?/ u=eds ¥ yuar f&fg, ued= 3 I3 ¢
Ut TEE I wme Ot 8w T, o fa fai 39 niew 3 amre, 36 fefimr 87 faadfint araaret
3 TIARE T ?

(A) Generalization/ AFUIaIads | (B) Discrimination/ fesaar

(C) Extinction/ m&Y J&v (D) Sensitization/ ARTEHI®BIT |

The concept of child-centred education is advocated by/ &-aefs3 fifimr € Aawu & sarsz
st T

(A) John Dewey/ #& 3t oofaT (B) Pestalozzi/ URESHT I

(C) Herbart/ ggg92 gmia" (D) Froebel/ E98% onmmar

Which of the following is not the characteristic of emotional intelligence given by Peter

Salvovey?/ 35 fofimit fE° faodt ieg Anedt gorgr I aret sres=Ha gt &t ferms 5dt 3 2

(A) Perceiving emotions/g'ex & ANSE | (B) Managing emotions/ <&t &7 YEUE FI&T

(C) Using emotions/ 3= ¥ 293 &g&" | (D) Controlling emotions/ geae! & g 357
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10.

The concept of continuous and comprehensive evaluation is introduced in the year J

5339 mi3 feniug Hoaes St ugeT A® ____ &9 UF &gt aret 3

(A) 2010 (B) 2005

(C) 2009+ (D) 2004

11.

The conflict theory is given by/ Ruar fRuiz fo3r famr 3 ;

(A) Emile Durkheim/ % gaumsty eni/ar | (B) Karl Marx/ &9% HEG&H ©niar

(C) Robert Stolle/ J992 AE® Tmrar (D) Max weber/ RSH g9 ©nia"

12.

Which of the following classroom environment places no demands on the students of any sort
and students are actively supported in their efforts to seek their own ends using any reasonable
means?/Js Tfamit {33° faazr a@mgH HI® faR & famy ¥ fefonradhnt 3° 3 Har &dt Suer
m3 fefenradt far & ewy rust & @93 a9a »iuE Bert & 3% &35 ¥ w3st 9 AgaeHt &
AHIEE 9% 367

(A) The authoritative gtvle/ wfaarg3 7S | (B) The Indulgent style/ yis Bat

(C) The permissive style/ mrfamiarat R&t | (D) The democratic style/ 3334t B&

13.

Which of the following represented the four clusters of emotional mteillgence given by
Goleman (2001)?/ di®&Aa (2001) Toirar 2 o Fea=sva gdt @ 99 Ayt 3 Jo fafiont &S
fagz soAger 3 :

(A) Self awareness, social awareness, | (B) Self motivation, social awareness, self-
self-management and relationship | management and relationship management/ A<
management/ AR FUIGEST, AHTRE | 4I6T, ANTHE ARIGEST, Re-y8Us »3 AET Y805

AAGRS", AT -Y¥Us 3 AU ydus

(C) Self awareness, social awareness, | (D) Self concept, social awareness, self-concept and

-self-concept and relationship | relationship management/ FRI-Fa®U, FHTHR-

management/ FS WAGHIT, ANTHA | AAGST, AR-Rasy w3 farsT ydus
AIgEsT, AT Ha®d »i3 AEU ydus

-

14.

Whlch assessment technique is subjective in nature?/fg0st Hoas TSI g™ &9 femastars
7

(A) Objective type questions/ TRZEHS Y9 € YHS L(B) Quiz/ afew

(C) Rating Scale/ 3féar ma® | (D) Multiple type questions/ ¥7-Yy&'3 © YAS

15,

The best child centred approach of learning is /fifuE &t AZ 3 Tt o% a'efgz udg 9 :

(A) Enquiry based learning Ygfare »marfas fimusrst | (B) Concept formation/ Fasu faaHrs

(C) Project based leanring/ YRz mmurfgs fruset | (D) Lecture/ 3ag9

16.

Reciprocal determinism model of albert bandura consist of following three factors except/

m%@%mmmﬁg%fsﬁmmg"ésaﬁﬁmmm:

(A) Behaviour/ fesgs (B) Person/ femast

(C) Genetic/ Fafex (D) Environment/ T3<35

17

is a classroom in which students from different cultural backgrounds cooperate by
doing different parts of a project to reach acommongoal./ ________ €& a&mgH J far 9
-3 Hfonmerga fugam @& feforraet fx A% A9 3 udes wet ¥ Ynae © Sy-24 g1
FIA AfgUa FIT TS |

(A) Group classroom/ AHT S&HIH (B) Jigsaw Classroom/ fai IBHIH

(C) Paired classroom/ 3=y IBHGH (D) Pair-share classroom/ Unig-Enig ISHIH

18.

The Erickson theory of development comes under/ feam & nifgars frats witls n@er 3 :

(A) Psychoanalytic theory of child (B) Behaviourist theory of child development/
development/ % feam v Hafefammax frotz | 9% feam & feggeedt frufs

(C) Cognitive theory of child development/ % | (D) Constructivist theory of child development/
feam o dusv=x fru’s T feam o sgs3Ha fHuis
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‘ Thurston’s group factor structure of intelligence does not include which of the following

factors?/ HIHEs € SR © AT a9d 8539 89 Jot &3 argat f&° fagz™ Aovs &dt T -

(A) Number factor/ ¥fumim a3

(B) Memory/ AHdt

(C) Word fluency/ mae €1 seaart

(D) Abstract thinking/ »HJ= A9

Which of the following is not a part of fac
T g fraist o fgmr sdt 37

tor theories of intelligence?/ J&' f&3 &9° fauzT g4t

(A) Sternberg theory/ Aeg&adar faufs

(B) Vernon Hierarchical theory/ 2355 Tfegradias
froiz

(C) Thurston theery/ ggres fuots

(D) Guilford theory/ fosegs fau’s

[
[

Stanford Binet scale is a type of

.| ACEeds f9de Ao o ffa famy T

(A) Verbal test/ ¥fyx 2rAC

| (B) Non-verbal group test/ 33 #fva Aya 2R

(C) Individual verbal test/ fenwa=tas Hva

2re | (D) Verbal group test/ ¥fya AHT ¢AZ

RY]
Fra

Terman defines intelligence in terms of/ 29na ¥t 3 fer yarg ufgsriis ser 3

(A) Ability to adapt/ & T AHIE"

(B) Ability to understand/ AHSE ©t WarsT

(C) Ability to solve problems/ AH TRt
3 U8 596 T AHGET

(D) Ability to think in abstract terms/ Axy Fae’ &9
AoE @ HasT

58]
(y

Who gave the concept of Kindergarten sc

hool?/ fdzdarges Ags ©f orgs’ fand fedh?

(A) John Dewey/ #i5 3<1

(B) Pestalozzi/ UReHH!

(C) Herbart/ gggae

(D) Froebel/ 3¥&

The correct sequence of categories of learning outcomes in affective domain is/ Y=t 3ns f&w

fias @ st Ehoif B@f T AGt gH 9 ¢

(A) Receiving, Responding, Valuing,
Organization and characterization/ Yyus
qI&T, HeH T, H® ©F, HAG6 M3
ferEz

(B) Receiving, Responding, Organization, Valuing and
characterization/ Y3 aJa", 72™ T, HIGE I,

(C) Receiving, Responding, Valuing,
Organization and characterization/ yus
feRm3T

(D) Receiving, Responding, Organization,
characterization and Valuing/ Y3 &da’, A<'d €T,

25.

ADHD stands for/ ADHD 7 »dg J :

(A) Attention __disorder and hyperactivity
deficit/ wicHs  fsmmasgs T
getuantatteet 3fefhe

(B) Attention deficiency and hyperactivity disorder/

(C) Attention deficit hyperactivity
disorder/ meHs  sfefAe ms
TEhgmeetfedt femrasy

(D) Attention disorder hypertension deficit/ MZHS
fermrase w's oetuenadtfedt 3fefre

Mg
3

“are problems in pronouncing sounds correctly./

feg mifmre a5

et T qat 89796 F96

(A) Fluency disorders/ ygwg fead

' (B) Articulation disorders/ nragtg®Hs fearg

(C) Voice disorders/ e Agd! feara

(D) Language disorders/ 3R Aedl feard

A teacher is using an alternative computer keyboard to facilitate learning of a child suffering
from cerebral palsy, is an example of which type of technology?/ fermaft »iudar 3 Wtz &9 ®
fifus o HIS3 w5t g »iftwua e feasfua siads ©f 293 a9 foor 9, fea fam famy <t

TaEEH o iy SuaaE J?

(A) Instructional technology/ fagesa
IASTHHT

(B) Computer assisted technology/ &fU8zg ATEx
ECOUSEII

(C) Assistive technology/ AITE
IASTHBAT

(D) Complex hypermedia/ Su&aA TETYTHIS T
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| 28

Inclusion in education refers to/ fitftmr &8 A&z & gemer fder J

(A) Students with special needs spend all | (B) Students with special needs spend half of their
their time with normal students/ BT | time with normal students/ feRR &3t T8 fefonradt
fefermagnt & fa3€e o5

(C) Students with special needs attend | (D) Integration of special needs students with normal
special schools/ ferm &3t T8 fefonadt | students occasionally/ feRm &3 @& fefenraght =

29,

Most commonly identified form of intellectual disability which is genetically transmitted is

J/ S »ida=T & A8 3 vitH 39 '3 ueenr wE T qU F f Adfea 39 3 yAfos
Jer ¥__ 3

(A) Genetic syndrome/ #afes fA3IH J (B) Down syndrome/ 3785 fHSIH

(C) Birth disorder syndrome/ 7aH fearg fizaw ‘ (D) Intellect disorder/ gttt feag

30.

refers to a broad range of autism disorders including the classical and severe
formsofautism/______ wifenH @ s@Hias »i3 digie gut AR wifern fearg & fea fems
A&t T ooew féer 9

(A) Autism spectrum disorders/ »ifemq | (B) Autism-specific disorders/ wifeaH-ferm feas
AUacH fearg

(C) ADH/ & 3t 7w, (D) ADHD/ ¥ 39 .5t

Jof fe3 YT § U3 yAs 399 31 3 38 I © Q39 -

H3 a3t feg 899 e 3t uIne 8T fET 3UT I it fednt TE AE 1 TR
T UR ¢ 83 €3 uz st fam B oo faar mfimrat & fe'st oo /Y1 5fiord @ 3
83 83 €3 A9 IY A GoT U=l uR TE39 It IIr it IE FE 1 Ae €3
gOEG 3 IS g9, gae, Ushe ¥ €58 &%, WS, 79 3 318 uddt aowt ey §5
A 08 75 w%ﬁﬁwwﬁwmﬁﬁémaﬁrml ge-feast
aaﬂ%ws*?rﬁewﬁ T e ‘et uer feger A

fefenraet a3 fo'T WT® 3 AHTST nigHTT Fo2 a2 | WU PRl-nruEt ST Thoft
39t fu'g uF3, fimis 3 g5 wagge frdt & fefenradhnrt 3 fast fo-78 gU soa
¥5T BT qEfest ¥ 99 A | ug fefonradht e fimrs fER-52 ©239 €% 9% AT At
Ao fERldeT 3 T3HHeT Arfag w39 fe%° foom & a9 we 3t 73 fefonradt FO3
d, GU-TU ¥S AT | BF B 3f9® HAeT 3 fers Taret 3 A9 fefonrast w3 T o

31,

Ug feg nifen mae ‘g3®° feniaas nigAg-

(A) uFaE J (B) FHU-T9F &< J

(C) Aftmi-T5d &< 9 (D) fermAz T

32.

g feg fam niAEs 3 wea-9g Tue faor 97

(A) oAt FaT (8) frftmi™ =239

(C) Ag® (D) H&™

33

fgﬂﬁﬁ%am@m a‘cﬂm T o ni9g 7

(A) 393 (B) 3&H

(C)E3Y (D) eB=T

34.

TOH ‘TFC B UH 3 of AHST 7

(A) €T & (B) e =& UTHT

(C) ygst ymAT (D) Ut =t umAT

35.

U3 enft A9t feg Jee9x feRAe faaaT 97

(A) g9= (B) uZatt

(C) I (D) BuS=3 A9

4 of 20




35,

HfHnrs far g ‘3 sfenr famr 717

(A &g Bud

(B) Fig® & =09

9T 3 9U9T &% ©H § Harde'
FFY ATt & AdE s mrEat
2afant ‘g oz fude sEt nrat
oR ¥ sHrE fes 78 99 Ho Ht
IS 3w wfenrg f&g soet..
ARt YFTT Ut Ut RIEmT AREmt
Ffenit 3 daat § Ageft 8u Jaret
wﬁmuﬁ@ﬁmwwé
fitst Tt JEat ‘g fae® nirE T
a7 e st @F aet Bag afozdl
%a@sw@mardf‘ﬂ-aﬂﬁ
W%@Wmﬁﬂnﬂ@aﬁ“a@‘
Tt gE@aindt, BS ® »i2dd

(C)T=e3T ¥ ¥J9 (D)@uaazara"rm?
37. ‘T I A TR J?
(A) frEg (B) Fftmrm &
(C) 33 (D) 39
38. Ug fev g3 HgT H'H &< J5, AT 98 a9
(A) niftiy= (B) Tefenrmagt
GES (D) 8usaz A9
aafﬁ’%aﬂ%z’éﬁuqamﬁaazgswsﬁéﬁ‘safeé-
gHF 3 WS yfenrg fe'a soet
g€ 7% a9t € 9o B9 g <t
U9 U9 €3 gu T fumger

gier @t o 3 B3 85 a9 #t
am%?nrr@?"rrrfzwafs-amﬁ
39, Ffe 22 € Aeds U ‘Tge’ © widg-
(A) T I Ust (8) =fa=
(C) uart (D) fanr
40. ‘Ffont” 3° fog ot 3= I°7
(A) BEt faaTd RWET A (B) "
(C) 93 Bumg firet (D) Bt
41. M?Wﬁmﬁma’aﬁ—f&ﬂmﬁafaﬂmﬂmsﬁwﬁwﬁ
(A) AT St (B) famast
(C) 22T At B3t (D) 37t
42, afe 22 9 Hiend © W8T &% o © BHIY f&H IgT € ©H 77 J9J I8
(A) &' (B) 39
(C) SH& (D) & Te

Sgfentt ‘T ToET fMEE BT viedl -T28 Hue edlan (o fenraefea gu feg nifen 37

(A) M™H &

(B) H™H &=

(C) yarrs =9 fafomr ferme

(D) Fus 29X fafan ferAs

-

T




44. few ‘ardt’ mav fermes & fxost famy 37
(A) UfoHs T9x feRmeE (B) T =9 femmE
(C) fore Toa ferms (D) uFe=t ferms

45. afexr fed ‘Tt o af »igg 97
(A) HFEET (B) IFH3
(C) TrgraTg (D)W@ET

46. <l T&T Tl €7 J€ ©f o &9 1997 7
(A) THAT 5% (B)wwwm
(C) AT gnTaT | (D) BBIT &'

47. Waﬁﬂﬁwﬁmmm@m?
(A) B . (B) ugd
() Budas v \ (D) Buga3 o=t adt

48. JI5 Tofemit fe8° faazr 13 g TRt @ THO'S 97
(A) H&fefams 3 399 (8) A& 3 iy
(C) gZa", ugw, fever (D) FEI3T BaT &'H THuSE

49. HE5 &Fs § 22 wion feg feafns a9a &2t faag nifsnr &< d=am?
(A) "UAT THETS (B) Irw™3 ¥ Freet gu
(C) 8t afesT v B%9s (D) Budaz Aa

50. WWSﬁaﬁ?ddoﬁﬁlau;ﬂmm%?
(A)mrﬁlaar&‘?ws (B)mﬂ??wﬁﬁﬁ
(g)@uaage% (D) et = &t

151, T gt g9-

At §E6 yfafont™ 5% &dt ar% g 89 WH g ~-----=-= FIT TS|

(A) fenias Sy (B) AT &Y
(C) Irfoz (D) HEE &Y

52, aTHET ATT UdMT & nifas 396 BET fle Ul ©f @93 fqaamit Bart &% gef 97
(A) gt (B) faarst
(c)g3r (D) Budas A9

53, Uat 37T feg T @9 »ig g €99 &3 957
(A) AR BYU (B) AR =T
(C) Bugas &< (D) Buda3 aEt aat

54, g2 Fiont 3 Toue i@z &t f3nrst € nifeni &2t {903 735 A3 77 Ao 767
(A) fE&ar -2 waltat seer (B) I®H €35 T HJT BT TAET
(C)F9 T niyg’ 3 9% 2957 (D) Busa3 AS

55, foust s & guret ®et fxazT Bugs AT 7 AAET 97
(A) g9 € AOHE HUST (B)dre g& & HUTET
(c) Budas =2 (D) Busaz =t &at

56. Wﬁm#m@mﬁma@nﬂ‘mmaﬁwﬁvﬁm
T AET 37
(A) viftmiys & HOH nies (B) fefenraet &t wafra niAfagsT
(C) AIHTS nied® T3eds feg gt | (D) Budas A9

57, g¢ gionft 3 Ul g fRu@e widse set Agdt 33 feg off AHS 941!
(A)W—mmﬁam {B)f“a'ﬁ»r'm-rarﬂm‘s
(c) Bygaz &2 (D) Bud=az Tt aat
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58.

29,

60.

Read the passage carefully and answer the questions (61-68) that follow by choosing the best
alternative:

We must insist that free oratory is only the beginning of free speech; it is not the end, but a
means to an end. The end is to find the truth. The practical justification of civil liberty is not that
the examination of opinion is one of the necessities of man. For experience tells us that it is only
when freedom of opinion becomes the compulsion to debate that the seed which our
forefathers planted has produced its fruit. When that is understood, Freedom will be cherished
not because it is a vent for cur opinions but because it is the surest method of correcting them.
"The unexamined life', said Socrates, ' is unfit to be lived by man'. This is the virtue of liberty, and
the ground on which we may best justify our belief in it, that it tolerates error in order to serve
the truth. When more men are brought face-to-face with their opponents oh, forced to listen
and learn and mend their ideas, they cease to be children and savages and begin to live like
civilized men. Then only is freedom a reality when men may voice their opinions because they
must examine their opinions. The only reason for dwelling on all this is that if we are to preserve
democracy we must understand its principles. And the principle which distinguishes it from all
other forms of government is that in a democracy, the opposition not only is tolerated as
constitutional but must be maintained because it is in fact indispensable. The democratic system
cannot be operated without effective opposition.

61.

How, according to the passage, democracy can be preserved?

(A) By making good leaders (B) By changing principles

(C) By having an effective opposition (D) With the help of good teachers

62.

Virtue of liberty means

(A) Having a good personality (B) Doing debate

(C) Tolerating errors to serve the truth (D) Having free will

63.

When, according to the passage, freedom will become a reality?

(A) When men voice and examine their | (B) When we have a good government
opinion

(C) When we can do whatever we want | (D) None of the above

64,

The life is unfit to be lived by men.

(A) Civilized (B) Unexamined

(C) Liberal (D) Democratic

65.

'The end is to find the truth'. What kind of noun is ‘truth’?

(A) Abstract noun (B) Proper noun

(C) Concrete noun (D) Countable noun

66.

|dentify the word opposite to the meaning of word 'Savage'

(A) Barbaric (B) Turbulent

(C) Civilized (D) Fierce
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67. Identify the word closest in meaning to the word 'vent'
(A) Barrier (B) Repress
(C) Conceal (D) Express feelings

68. Which adjective can be formed from the word ‘man’
(A) Men (B) Women
(C) Manly (D) Main
Read the passage carefully and answer the questions (69-76) that follow by choosing the best
alternative: .
The third great defect of our civilization is that it does not know what to do with its knowledge.
Science, as we have seen, has given us powers fit for the gods, yet we use them like small
children. For example, we do not know how to manage our machines. Machines were made to
be man’s servant; yet he has grown so dependent on them that they are in a fair way to become
his masters. Already most men spend most of their lives looking after and waiting upon
machines. And the machines are very stern masters. They must be fed with coal, and given
petrol to drink, and oil to wash with, and they must be kept at the right temperature. And if they
do not get their meals when they expect them, they grow sulky and refuse to work, or burst
with rage, and blow up and spread ruin and destruction all around them. So we have to wait
upon them very attentively and do all that we can to keep them in good temper. Already we find
it difficult to work or play without the machines, and a time may come when they will rule us all
together, just as we rule the animals. And this bring me back to the point at which |
asked,’ What do we do with all the time which the machines have saved for us, and the new
energy they have given us?' The answer, | think, is that we should try to become more civilized.
For the machines themselves, and the power which the machines have given us, are not
civilization but aids to civilization.

69. What, according to the passage, has given us gods like powers? _
(A) Civilization (B) Science _
(C) Saints (D) Magic

70. How machines have become our master?
(A) Machines are costly. (B) We are over dependent on machines
(C) Machines demand maintenance (D) Machines are hard to manage

71. Why machines are stern masters?
(A) Because they demand care and right amount of fuel. ] (B) Because they are complicated.

_ (C) Because they are man-made. [ (D) None of the above

72. What according to the author can be done with the time which machines have saved for us?
(A) for taking care of machines ] (B) for becoming more civilized
(C) for spending time with friends and family ] (D) for going to vacations

73. What will happen to machines if they are not looked after well
(A) They will grow sulky ’ (B) They will stop working.
(C) They will spread destruction all around. [ (D) All of the above

74. Choose the synonym for the word 'sulky' as used in the passage.
(A) Silky (B) Cheerful
(C) lli-tempered : (D) Amiable

75. Select the opposite of the word 'stern'?
(A) Serious (B) Genial
(C) Unfriendly (D) Grim

76. . ‘The machines are very stern masters’.

In the above sentence, what is ‘very’?

(A) Noun (B) Adjective
(C) Verb (D) Adverb
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7L, is the relative degree of prominence with which syllables of a word are
pronounced.
(A) Word accent (B) Suffix
(C) Prefix (D) Phonetics
78. There are consonant phonemes in RP (Received Pronunciation) English.
(A) 21 (B) 22
(C) 23 (D) 24
79. On the basis of place of articulation, /n/ sound in ‘noise’ is
(A) Plosive (B) Affricate
(C) Nasal (D) Lateral
80. The goal/s of English language learning at primary level is/are
(A) Attainment of a basic proficiency as | (B) Development of language into an instrument for
is required in natural language learning | knowledge acquisition
(C) Both1and 2 (D) None of the above
81. The body of empirical rules which explain and regulate the structure of the sentence is
(A) Grammar {B) Phonemes
(C) Morphology (D) Syllable
82. Which of the following is not the value of teaching poetry?
(A) Sublimates emotions (B) Means of giving aesthetic pleasure
(C) Develops power of imagination (D) It is monotonous
83. In method of teaching of grammar, examples are placed before the students who
draw their own conclusions.
(A) Deductive (B) Inductive
(C) Prescriptive (D) Descriptive
1 84. Introductory greeting in a letter is
(A) Heading (B) Salutation
(C) Body of the letter (D) Subscription e =
85. According to Billow, is a morale-building and an interest building enterprise for the
students.
(A) Storytelling (B) Dramatization
(C) Poetry (D) Remedial teaching
86. CLTA in pedagogy of English stands for
(A) Communicative language teaching (B) Communicative linguistic teaching approach
approach
(C) Communicative language teaching (D) Communicative linguistic teaching application
application
87. Find the word nearest in meaning to 'ratiocination’
(A) Woman who owns a business | (B) Official charges for a crime
(C) Process of thinking and arguing logically ] (D) A substance in our body
88. Find the word opposite in meaning to 'Slumber’
(A) Happy (B) Wake up
(C) Lovable (D) Wait
89. | bought it hundred rupees.
Fill the appropriate preposition in the blank.
(A) Into (B) From
(C) For (D) Beside
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90.

What are the qualities of a good classroom

speech?

(A) It should be done at normal speed

L(B) Pauses should be carefully inserted

(C) Speakers should make use of proper stress and intonation

| (D) All of the above

91.

‘Mathematics is a language with which the

God wrote the Universe’ is said by/ 9If¢3 g smr

J for o8 Yo 3 gfnis & fefimn 3 fam gt o fapn 3

(A) G.H Hardy/ il »g gt

(B) Ramanujan/ IHEHAS

(C) Galileo/ d

(D) Bhaskara I/ STHId |

92.

Which of the following is called building block of Mathematics/

(A) Arguments/ Tdftst

(B) Undefined terms/ mufgsyz mazt

(C) Natural Phenomenon/ geadt =933

(D) None of these/ fogst f&F 3¢t &

93.

According to NPE—198§, upto what level mathematics should be compulsory for all children in

Indian schools / NPE-1986 = MEH'G, FISt HIST €9 A dfowi = afes fan Ygg

39 It d& gdter 3

(A) Elementary Stage/ )frsﬂﬁea‘l HeH

(B) Secondary Stage/ A=l Hed

(C) Senior Secondary Stage/ HI&PHd A3l AeH

(D) College Stage/ AT&H HeA

94.

Following the recommendations of.............

....0N evaluation reforms in school education the

traditional examinations are being replaced with continuous and comprehensive evaluation

(C.C.E.) schemey........ TP Aig@} fiffepr 89 ysiae Furgi dhw frgani @ gme; gefeh
Mﬁf&ﬁzaméﬁ»ma@aamﬁ.rﬁﬁ)mmmwmm

(A) NCF-2000

(B) NEP-1986

(€) NCF-2005

(D) NEP-2020

g5,

Which type of testing helps a teacher to know ‘Why a student is feeling difficulty in learning a

particular concept?/ far fary & A wifoerryg é’ feg aes feg HYT gadl J fa

fefoadt § o feim Hamy

fiue feg yras fag »r gt S

(A) Diagnostic Testing/ 3TedISAfea SHISaT

(B) Knowledge Testing/ faprs 2Afdar

(C) Skill Testing/ I&d <HfETT

(D) Understanding Testing/ FTHS 2RI

96.

Which of following is not a problem in teaching iearn_ing of Mathematics/ &1 fa3 feg ICAEY

aife3 wiftmiys w3 fitue i85 St mifionr st

(A) A sense of fear and failure regarding
Mathematics among a majority of

children/ EEB st g Jfes =
AHU 29 39 »3 wiAesa @ ges

(B) A curriculum that disappoints both a talented
minority as well as the non-participating

majority at the same time/ 8 USgH A ffa m
uefarest yfsgmat @ smaw deated
HIH3 ¥ § fagm s9er 9

(C) Crude methods of assessment that
encourage perception of mathematics

as mechanical Computation/ H&d& @
49 291 A qAleI § AT
< Uds § 93mfa3 TR I

(D) Enriching teachers with a variety of mathematical

resources/ WU & -y JfEz ¥ HIT
&8 IIYd g

97.

In the words of David Wheeler, it is “more useful to know 1o TV { I than to know a
lot of mathematic, Fill in the blank with one of the following./ 3fes Tgﬂ'&ﬂ (David Wheeler ) <
J3 fea g fan g s st v 331

(A) Solve Problems/ FHTHTET 5 I8 4 | (B) Use Mathematics/ JIfe3 & 93 ag

(C) Rationalize/ 3JIHAIZ HEQ I

(D) Mathematize/ A& I3
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98.

As per the NCF(2005), The Mathematics Curriculum should be coherent in the sense that/ NCF

(2005) ® WEHE, fE3 T USHH for »igg feg feamd(coherent) I i I fd

(A) It seeks to achieve the higher aim (B) The variety of methods and skills available
rather than the narrower aim/ fegdar | piecemeal cohere into an ability to address problems

on <t gare gﬁ < '5 yuyz a9 that come from science and social studies in high
school/ £3-243 Ba1 w3 T&d Buzay J< 7 Tt

Ao® &g fefamia w3 mafra witisi 3
it et § I8 996 © Wars 58T

(C) Students feel the need to solve such problems/ (D) All the Above/ Q'LQEB |
fefenmae mirdbt mifael § I8 395 &
33 HfagA I35

95,

The ratio of the areas of two similar triangles is equal to ........of their corresponding sides./ g
T fodet @ B3deS! o wigurs Qs feuli nizamdt (Corresponding) 37T @......... © §9T8d
Jer |

(A) the ratio / »au3 (B) square of the ratio/ WaU™3 € g4l

(C) cube of the ratio/ M&UT3 € W (D) none of these/ feast f&§ aet adt

100.

The following observations have been arranged in ascending order. If the median of the data is
63, find the value of x.

29,32, 48, 50, x, x+2, 72,78,84,95/ I51 &3 fadus & 9ge IH v feenfaz otz famr
J1I A9 3 < H“maT(median )63 3,3"' x T ‘r_:j"g T3

29, 32,48, 50, x, x+2,72,78,84,95

(A) 60 (B) 61

(C) 62 (D) 63

101.

For any two positive integers a and b, HCF(a,b) x LCM(a,b)=/ fon SR AaI3HA ﬁyﬂﬁ
Aftpor (integers)a »3 b B, HCF(a,b) x LCM(a,b)=

(A)axb (B) a +b

(C) atb (D) b+a

102.

Which of the following rational numbers have terminating decimal expansion?/ forafayz fed
foradt Ufe HEIE? (rational number)f&8 T3 (terminating) THHSE fer3g der J?

(A) 15/1600 (B) 64/455

(C) 29/343 (D) None of these/ feI&T f&g adt st

103.

How many silver coins,1.75 cm in diameter and of thickness 2mm,must be melted to

form a cuboid of dimensions 5.5 cm x10cmx3.5 cm?/ 1.75 Adhitea farm w3 2 fahilea
Hereh 2 ffd wieh R fiafamit §, 5.5 Adhited x10 Adhiea x 3.5 Hhited miad € W (cuboid)
geQe el fuufen ara grdier I?

(A) 300 (B) 350

(C) 400 (D) 450

104,

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same radius. The
total height of the toy is 15.5 cm. The total surface area of the toy is......../ ffgfugaTss

Aehficar U R fBada dlmag « ﬂﬁ@ﬁﬂé%fa“amﬁ (Hemisphere) @?H’@E’
3t famr 91 fu3@ €t I Qe 15.5 Adhiled 3. i3 T 98 AT U3dEH (surface area)

3

(A) 214.5 cm® (B) 234.5 cm*”

(C) 186.5 cm” (D) 96.5 cm”
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105. Which of the following cannot be determined graphicaily?/ﬂﬁiﬁ?ﬁﬁﬁﬂﬁaﬂﬁaé‘a
3 fagurgs adf i3 /4 AaEr?
(A) Mean / HOHTS (8) Median / HGa"
(C) Mode/ I8 (D) None of these/ feTat fed aet adt

106. Which of the following is not a Roman numeral/ fegat f&d fagaT 31 »id (Roman
Number) RG]
(A) XL (B) LX
(C) VX (D) XC

107. Which of the following is correct regarding Bar Graphs/ 8'd aret ? AYy feu I8 83
& ooz 7t &
(A) Bars of any width can be drawn vertically (B) Bars of uniform width can be drawn
with equal spacing between them /faﬁ | vertically with equal spacing between them/
Jardt Tl w197 § Goat fedarg gamg | feamrg damedt Ehif w9t § QIw fegard
¥ R 718 YT/ <dfeas 39 3 fiffowr | 59 R R aB uwer /wdieas 39 3
7 HIE 3 fif &1 Faw 9
(C) Bars of uniform width can be drawn (D) Bars of uniform width can be drawn
vertically with unequal spacing between horizontally or vertically with equal spacing
them/ fEarATa daret €t g7t o) between them/ fEGAT T3t i =gt &
Qust fegad wnTs e © 3% Qast fegagd gowg R © &8 BT
yge /edfcas 39 3 fiffe 71 Aaw | Afavaes 7 yae | <dfeas 39 3 filfer
3 A JI

108. The ages of Hari and Harry are in the ratio 5:7. Four years from now the ratio of their ages will
be 3:4. Their present ages are./ Jdt M3 Jdt € @HH 5:7 © M@U3(ratio) f&g 3 d< 3
T9 A5 'mie Qg1 & 81a T wigu3 3:4 J2am €t & Hger €19 ... J|
(A)25,35 (B) 20,28
(C) 15,21 (D) 30,42

108. How many diagonals does a convex quadrilateral have/ ffq In<an CEGED feafdd
fegd&(diagonals) J€ I& .
(A) 2 (B)1
(C)0 (D) None of these/ feat fed et &dt

110. If the number is the square number,it has to be sum of/ﬂ?ﬂﬁfﬂh-ﬂ, ﬁﬁ:lwea‘c'ﬂ(square
number) 5,?@3??\3@@?@?3
(A) Successive Numbers starting from (B) Successive Odd Numbers starting from 1/1 3 g
{C) Successive Even Numbers starting from (D) Successive Numbers starting from 0/0 3

411, Observe the following pattern and find the missing digits / éﬁrﬁ‘éﬁmééﬁmay{a@

11%=121
101%=10201
1001%=1002001
10001%=100020001

10000001%=...............
(A) 1000002000001 (B) 100020001
(C) 100000020000001 (D) 10000000200000001.
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| 112. Which of the following is not a perfect cube/ fegst feg faga fEa 'F?HEWWE (Perfect

Cube)?ﬂﬂ.é
(A) 216 (B) 1000
(C) 128 (D) 46656

113. Kamala borrowed Rs.26,400 from a Bank to buy a scooter at a rate of 15% p.a. compounded
yearly.The amount she pays at the end of 2 years and 4 months to clear the loan will be/ THHBT
3 15% p.a AGTS HAfI3(compound) T3 318 Aged Hdlee e 8 ¥ 3 26,400 JUB BT
2| B0 39 7 B0 IR & T8MIT Ta% B 2 7S w3 4 Hallfenit © i3 & wier gt
€3..9
(A) Rs. 31,475.30 (B) Rs. 36,854.40
(C) Rs.36,659.70 (D) Rs. 32,434.90

114 (1.5x-4y)(1.5x+4y+3)-4.5x+12y =
(A) 2.25 x*-16 y* (B) 2.5 x2-1.6 y°
(C) 2.05 x2-16 y* + 6 xy (D) 2.25 x2-16 y* + 16 Xy

115. Subtract 4p2q -3pq + Spqz—- 8p +7q—10from 18 -3p-11q+ 5pq— qu2 + szq/4p2q -3pq+
Sr:o-::|2 -8p+7q- 103_18 -3p-11q+ 5pq - 2pq2 + 5p2q 3
(A) pq - Spq2 +8pq—18q +5p +28 (B) p“q— 7pq° +5pq — 18q +5p +28
(C) p°q - ?pq2 +8pg—18q +5p +28 (D) p2q - 7pq” +8pq — 18q +5p +18

116. The remainder when x® — ax? + 6x — a is divided by x—a/ A xC-ax’+6x—agx—a QB Idl
i3 e J fag gréll(remainder) ot geeTd
(A) x+7 (B) 3a+2
(C) x+2a (D) 5a

117, The value of k, if x — 1 is a factor of p(x) = kx?—3 x+k/ kET'tTH, Had x - 1; p(x) = kx® -3 x+ kT
dJied (factor)al
(A) 3 (B) 1/2
(C) 3/2 (D) 3/4

118. Which of the following is not true when a transversal intersects two parallel lines, then each

%of/aw%éﬁﬁﬁwmﬁféﬁﬁaaﬂemﬁméwﬁéwam

(A) Corresponding angles is equal. /ﬁﬂB (B) Alternate interior angles is equal./ 71?\'@?51
(Corresponding)d& &1 1 989 J1 | fedizd(Alternate) AT T HI §IHI ol

(C) Interior angles on the same side of the | (D) Interior angles on the same side of the
transversal is equal./ aﬂeam;%fé“é‘ transversal is supplementary./ QFI?EDTB T f&q
YR viegaide oA EIEdd |l YR ¥ wiEgal I T AT
ﬁHH'OT(SuppIementary)é |

119 Which of the following is not a criterion for congruence of triangles?/ J& fa3 fed faga
f3aet € AgddH (congruence)‘é’:ﬁ RS Ed I
(A) SAS (B) ASA
(C) RHS (D) AAA

120. A right triangle ABC with sides 5 cm, 12 cm and 13 cm is revolved about the side 12 cm. Then

the volume of the solid so obtained is/ 5 ﬂ@’-ﬂ'&! 12 AHdhitea »=3 13 ﬁ?ﬂﬁ?ﬂgﬂ"‘e”?@ﬁa
m%zfaﬁamc; 12 Hichftea &t grr @ o Wi J1 faa fom 3g yus i3 3/ dnifess

(A) 100m cm® (B) 120n cm®

(C) 110n cm® (D) 780n cm®
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121. | Which of the following statements is not true for organic manure?/ 3 fo8 Iuat &3 faga Afea

e Fu Adt &1 37

1

(A) It enhances water holding capacity of (B) It has a balance of all plant nutrients/ &R &g Ufen
soil/ feg it € Uzt Juz & mdE § 2 7 Unfes I3t o Hess der 3

et 3

(C) It provides humus to soil/ &I & & | (D) it improves texture of soil/ ferar ifct &t 7239 §
f98HH yers aaet 9 oIt 9

122.

Read the statements given below:

A. Seeds require moisture for germination./ Sl § gare =8 &t & 33 det 31

B. Planis can absorb nutrients mostly in dissolved form./ ¥e Ufes 337 'Q' fawre3g wd J8
gy &9 AnY &9 Aee TS|

C. TIrrigation protects crops from both frost and hot air currents./ fiost enst é’ 33 W3 ISH
Jer S grgre 3 goger I

D. Irrigation improves soil texture./ fHE® &% et & ge39 9 Aug der JI

Choose combination of statements which indicate need to irrigate crops./ THS' © ARG T 13

3 7 eAgt & fifod & 87 § Tawde 95|

(A) A and B (B)A,BandC

(C)A, B, Cand D (D) A and C

123.

The process of loosening and turning of soil is called fHSt é‘ &g a9 w2 Hges & yfafanr ?j
fagr wier 3

(A) irrigation and manuring/ THE™S! W3 we U@ | (B) digging and winnowing /58 W3 8=

(C) tilling and ploughing /RZE W2 IS Tge" (D) harvesting and storage /2SI W3 IIIe

124,

In the absence of which of the following, will photosynthesis not occur in leaves?/ fEga™ f&d fam &

(A) Guard cells/ 93 A (B) Chlorophyll /aR3fes

(C) Vacuole / ég@s (D) Space between cells/ AT fegag &g

125,

Which of the following statements is/are correct? /I8t &3 agst &9 fagz/Adt 7

(i) All green plants can prepare their own food./Ad I U U= 375 yT 39 99 Aae I5|

(ii) Most animals are autotrophs./fAW e 39 A&ed Vil"éaa de I5|

(iii) Carbon dioxide is not required for photosynthesis. ({@'H HHSHE S8 996 IFEmaAds & 37
&t Il

(iv) Oxygen is liberated during photosynthesis./{&H HABHE ©I'6 WHHHG HEZ J Ael J1

Choose the correct answer from the options below./ 98" &3 feamyut &9 Adt Aew gei

(A) (i) and (iv) (B) (i1) only

(C) (ii) and (iii) (D) (i) and (ii)
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126.

Anushka wanted to buy a gift made of animal fibre obtained without killing the animal. Which of
the following would be the right gift /WaHar Arsed & Ifgnr A3 fas™ Faea’ 3 us a3

Z8igg 3 gfow 39T ydles gde At frost Y fagz Adt 39er 3=

(A) Woolen shawl /G&! A& (B) Silk scarf /3HH AIIS

(C) Animal fur cap/ oed €3 Ut (D) Leather jacket/ 8HZ © Aae

127.

Which of the following statements is/are true for sexual reproduction in plants? sufentt &g fasH
yres 38 5 B3 aust R fagzvadt 37

(i) Plants are obtained from seeds./ U v 3 yu3 =13 7 I5|

(ii) Two plants are always essential. /2 U IRH" At Ie I&|

(iii) Fertilisation can occur only after pollination. /4gre 3 smiE & we der J At 3
(iv) Only insects are agents of pollination. /fAdg I3 It UII3 d9& © I9s IS |

Choose from the options given below./ 35 &3 feasut &5 g2

(A) (i) and (iii) (B) (i) only

(C) (ii) and (iii) (D) (i)and(iv)

128.

Arnav visited a forest near his town with his classmates and his teacher. As they were entering
the forest, their class teacher told them not to make noise in the forest as noise could

disturb/waae & WU AfgUShH w3 Wy withye &8 wug Jfgg 2 33 e g T 897
3Tl 72 G0 Huas Y Tus 3 99 He, O @ S5 witmuyg & 8 § faar fa 89 des ife
35 & s g 19 uIAs a3 AaT I

(A) birds /&M & (B) animals /Ao=d" §

(C) both birds and animals /d&mi w2 Aaear @< § | (D) plants /dfew &

129,

Which of the following is not the name of a tree?/ 35" f&3 T fagzr g = oo &t 37

(A) Teak /@ - (B) Sal /A&

(C) Porcupine/ Jgaurdts (D) Kachnar / /8889

130.

Seas and oceans are full of water on earth. However, a very small percentage of water present
on earth is available for us. This percentage is roughly/ TSt €3 FHes W3 AWE el &8 39

xR T awﬁ,uaﬂ'éﬂaewéwaggﬂeqﬁa?mw@mélﬁaqﬁmmé

(A) 0.006% (B) 0.06%

(C) 0.6% (D) 6%

131.

A man digging the ground near a water body found that the soil was moist. As he kept digging
deeper and deeper he reached a level where all the spaces between particles of soil and gaps
between rocks were filled with water. The upper limit of this layer is called/ffa fenast &

T5-AI3 @ a5 Wil @ yord g 3¢ et X A it M fAE-fAd G 4 3 bt yed
gav fgor, 89 §F g '3 ude famr i iR 2 et w3 oo © feoarad ua © feoaa
At B Ut &% 39 adh| o yg3 € Quast Fhr § faar A 9

(A) water level /urEr B Uug (B) water table/ 3! A%-H39

(C) groundwater /O3t I5&T Ut (D) water limit. /urst € AHT
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132. | The amount of water recommended by the United Nations for drinking, washing, cooking and
maintaining proper hygiene per person per day is a minimum of /43t fawadt Yt fes e, T,
HEr U@ v HIt Ao ged JuT S8 Aues IHed ewdr fieran it ot urEl € we-de
H3a Ji
(A) 5 litres (B) 15 litres
(C) 30 litres (D) 50 litres

133. | Water polluted by various human activities causes a number of water borne diseases. Which of
the following is not a water borne disease?/ S4-¥4 W&t ISt 55 Yz et ad 3§
ot et ©F s geer J1 I fefimt Y ot urdt & IT <@ it &dt 32
(A) Cholera/ 3T (B) Typhoid /e8iedl@
(C) Asthma /&H" (D) Dysentry /J9H o

134. | Which of the following is a part of inorganic impurities of the sewage? /forafeaz &9 faaar
Aedw S wiarggfsa widd e g A 372
(A) Pesticides /dIcaHA (B) Urea/ GaMmrr
(C) Phosphates /@HETH (D) Vegetable waste/ R’ & gfde-dae

135. | Which of the following is not a source of waste water?/ 35" €3 & fauar afe ust & "33
&t 37
(A) Sewers /HiEg (B) Homes/ WJ B
(C) Industries/ €Tt (D) Hospitals /IAUSS

136. | A beggar wrapped himself with a few layers of newspaper on a cold winter night. This helped
him to keep himself warm because /& foudt & ffq &3 973 § wyE'g @ 9% UF3™ &'
Wz vy § e fomr @ﬂﬁ@ﬁ§m€W§W{éﬂEf€BH€€ﬁﬁ@ﬁ
(A) friction between the layers of (B} air trapped between the layers of newspaper is a
newspaper produces heat /WHE'g @ | bad conductor of heat. /WHETg S Ug3t € fegag
g3t feodl gorg ot der aget 9 At I8 g gt T v Heed I
(C) newspaper is a conductor of heat. (D) newspaper is at a higher temperature_-fha_h;,the
/oEETg JI9H T Hoed I temperature of the surrounding./ W= Wa-gWa

2 IUHS &8 89 3uHs ‘2 der I
137. | Raghav and Vrinda measured their body temperature. Vrinda found her’s to be 98.6 °F and

Raghav recorded 37°C. Which of the following statement is true? /gwe w3 gfder & wWuE A9
T IUHS HiLwr| Sfder & wWidsT 3UHS 98.6 °F W3 IWE & 37°C ©IA 37| I&t B3 aEs’

&3 fagz ¥ 37

{(A) Vrinda has a higher body
temperature than Raghav /2fder @

AOIg T 3UHS Iwe &8 §or I

(B) Vrinda has a lower body temperature than

Raghav/ 2fder @ A9 © 3UHs Jwe &8 we J

(C) Both have normal body temperature
/2T € FIIg € IUNS ATGS 9

Jé

(D) Both are suffering from fever /2% gug 3 a3

16 of 20



138.

. Iron pillar near the Qutub Minar in Delhi is famous for the following facts. Which of these facts is
responsible for its long stability?/ &gt fg agmiteg € &2 33 T =y Js B3 I8 o8 HAgS

31 foast Y fagz 39 foret 39t Afass & e 37

(A) It is more than 7 metres high/ &g 7 (B) It weighs about 6000 kg. /&R T 37 BI1N
Hieg 3o gor d 6000 TIBIH T

(C) It was built more than 1600 years ago. | (D) It has not rusted after such a long period. /&
/feT 1600 AE ufgst sErfemir famr 7 39 waR ¥ s @ fm § Hars o ST

139.

An EVS teacher of class V shows a video of different types of animals like reptiles, and
amphibians and discuss about them. The most appropriate objective of the activity is to draw

attention of students to /A& AN T Ba 8.8 A", withua 24-3y gt @ Aaeg e fa
Ay, w2 A5-u8t fie T a0 fewer 3 w3 G’ 99 999 age 9| fefewrgdmit € s |
fifor o9 gEifedt & fagst o9 Az 3 gadt 39

(A) show food items /4TE Ut @i (B) observe variation in animals and their living
g foug /Aeedt w3 Gt @ Sfoe-nfus e ez § 43

(C) Names the animals/ 7 oed’ € & (D) Importance of animals /7A&Ed" € HI3E

140.

| A school trip has been organized to visit to jaisalmer during summer season by EVS teacher. The students
r are taken to fields where rainwater harvesting is done and are asked to prepare a case study report

Jabout rainwater harvesting. The purpose of such a trip is to: /S Wity enrgr IFH @ HAW
aﬁaﬁnmlavéammﬁangsmem@maﬂ?mél fefenrae § a37 @8
farrfinr Ater 3 g o @ ust & Hes JiFt ARt 3 w3 @ § o @ us & s §9 aH
A falge fawrg a9s B8 fagr Aer I wifad oz e g2n o

1 Make students understand how the human mind can solve problems that are not solved

bythemm/ﬁ@mﬁhrém{mﬁﬁnﬁﬁm@wméﬁﬁda

g9 AaE d ¥ JEI3 T I8 &t S A 96
2 Such activities not only help the learners enjoy the time outside the class but also
allow them to learn the importance of water conservation ifeint SiStfedng &

frge fafimradwt § a8 3 S99 Mt fagrge R wee 9 96, A
gust § Udt & HI'w & HIFT § fifus o & Hee Foehi 96

3 helps students in learning how to write case study /an wis fowe five &9
fefenragm &t Hee soer 3

(A)1,2and3 ' (B)1and 2 = }

s

(C)2and3 | (D) 1and 3
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141.

Which among the following considerations would an EVS teacher keep in mind while designing
a group activity in the his ciass /e S wiftminga wiuet FBH K9 fd I arSifedt

1 Engage the interests of the children /=fomit € I3 § FHS I&

2 Appeal equally to boys and girls /&I W3 g § SoEY & i croy
3 Use expensive material/ Hidelt miarat <t ECER-Cro
4

Appeal to chiidren of all religious and cultural backgrounds/ A Trafid W3
Hfgwrorad fugea T8 sSfont § wis a9

(AYL,2and 4 (B)1,3and 4

(C)2and 4 (D)2and 3

142.

NCE 2005 has not recommended any prescribed curriculum and text- books for EVS for class |
and 1. The most appropriate reason for this/ NCF 2005 & JBH 13 1| B8 evs B8 faR

mmﬁws-wamﬁﬁﬁéim@mégwwé

(B) Learners in class | and |i cannot read and

write/7H3 | w3 1| @ fefonradt uz-fed &t Fae

(A) EVS i.;only for class Il Onwards
/6@ figg A s 3 EmE B8 I

(C) To Provide contextual environment | (D) To reduce the load of curriculum /AT&H T 8d

AR TIRYE TS 95 BE w=ls Bt
| WETY

s the first school where children start their initial learning--------==- ufas 7S 3

| fifd &9 s ggwrt fifmr g S9€ I5

(A) Family/ ufgeg (B) Primary school/ Yfendt Rg&

(C) Play school /U RS (D) Society/ PHH

144.

Match the following 95 &8 &8 1% a3

ListI
A Formative Online Assessment Tool

ffa ranfer risodls Y&'aE g8 gezTdt A 2ne afed
B Summative Online Assessment Tool Il Individual Laboratory Report
C Formative Offline Assessment Tool ~ III Self Assessment Module
Fafes viewds wARie g8 Ae yeiaE NIgE
D Summative Offline Assessment Tool IV Weekly Quiz
Y WeFEE HEEE T8 geged afed

List I
I Weekly Self Test Quizzes

(A) A- I, B- 11, C- I, D- IV

(B) A- 1L, B- IV, C- I, D-II

(C) A-1V, B-1II, C- 1L, D-1

(D)A-1L,B-1, C- 1V, D- 11
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145. | Assertion (A) : At memory level, teaching is nothing but learning the subject matter by rote
Reason (R): As against reflective level, the memory level is highly thoughtful
Choose the correct from the following/a8& (A): WETHI € Ugg '3, Wis g9 & &t 9
yg et § Je & fiuz der 3 39w (R): ySife dog @ feda, oreews v Yo 5g3 e
fegrgnts ger &
Iz &3 KT At &t O T
(A) Both (A) and (R) are true @& (A) »3 | (B) Both (A) and (R) are false/ % (A) 3 (R) TSI
(R) Bl I S T5
(C) (A) is true, but (R) is false./ (A) 3t& 9 | (D) (A) is false, but (R} is true./ (A) &3 T i3 (R)
w3 (R) &3 3 T®3 I
146. | The teacher with 50 students class, wants them to participate in an activity which involves
maximum number of senses to enable to enhance learning, for the purpose he have to follow the
suitable activity of/50/ fefenrasn @ aoH T witmmua, grder J fa 89 g windt arEitfedt
f¥g fifrr 3% fan o fimrs edhr @ w3 Aftmr 7is IR, 31 A five feg eor 2, A
g2n & @r & et Itfedt faosdt I2TM?
(A) Organizing field visit to some ~ | (B) Using relevant smart class teaching-learning
popular places /3% g rerst 38 materials/ HEf3 AHae I8H wiwms-fiugTE
Y3d 29 T WUHS IIS AT & 793 395"
(C) Encouraging debate and discussion (D) Inviting resource persons from community to
among groups /AYI" R =fgn w3 demonstrate their skills /AHA 58 foAIA USHS
ggu § G393 95" W g&9 T YSIHG J95 Y EEEE
147. | Which of the following can be more helpful in learning about the “Mountains and Agriculture”
through ICT?/ ICT @wa" "uargt w3 Yfter o3 five R Iz fftmit T faoar 299 Aofed
3 AgEr 7
(A) Projector /iriacd (B) Slides /FBEIS"
(C) Video /&FE (D) Recorder /faarasg
148. | Which of the following are the major socialization agencies /&gt &5 fagdt Y AHHIETs

eHAMT TS5
.  Community /S€ga
II. Family s1ufaeg
IMI.  Same group /AHG AHJ
IV.  Formal Educational Institutions /gmf fefenwa ArEr=’

(A) I1, IIT and IV (B) I, IL, III and IV

(C) I and III (D) I, II and ITI
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149. | A teacher intends fo conduct remedial classes for some students who are not responding
satisfactorily. Which type of evaluation she/he would undertake for choosing students for her/his
remedial classes?/ ' witmmua g9 fefewrgegh B8 Quoraa agw Barge & feger Juer I A

IHSEEA AT &9 © 99 I €9 Quued a@H E fefewrgd € O g98 38 €9 faH
farH & ystaE a3ar? '

(A) Summative evaluation /H9U HBEE | (B) Diagnostic evaluation /I RASHICT HB'TE

(C) Assessment of portfolios /UIe28I€ | (D) Competency based evaluation /BRTIST Warfadz -

T HEEHE HE&E
150. | Special attention given to students with or without special needs is called /feim 83 o8
7 fast feim 83t o8 fefowgdh § 83 7re @8 foan firs & faar wer @

(A) Integrated education /2sitfe3 fHftm™ | (B) General education /mmH fHfem

(C) Remedial education /@uarad fHftmir | (D) Special education/ feRm fHftmr
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